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B.A. (Part–I) Examination 
SOCIOLOGY 

(Introduction to Sociology) 
(Optional Subject) 

Time : Three Hours] 	 [Maximum Marks : 100 

• 	Note :— (1) ALL questions are compulsory. 

(2) All questions carry equal marks. 

1. Give the meaning of Family. Discuss the characteristics of 
Family. 

20 

OR 

What is 'Religion' ? Discuss the characteristics of Religion. 

20 
2. What is Culture ? Discuss the characteristics of Culture. 

20 

OR 

Give the meaning of Socialization. State the stages of 
Socialization. 

3. Write short answers : 

(a) Structural Functional Perspective 

(b) Sociology and Professions 
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(a) Write on Development 

(b) Meaning of Social Change 

(c) Functions of Social Stratification 

(d) Horizontal Mobility. 

OR 

Demographic factor of social change 

Vertical Mobility 

Write on Revolution 

Meaning of Social Stratification. 

UWO 	42497(Re) 	 2 

(c) 

(d) 

ti 

Relation between Sociology and Psychology 5 

Humanities Orientation of Sociology. 	5 

OR 

Sociology and Social Policy 	 5 

Scope of Sociology 	 5 

Meaning of Sociology 	 5 

(h) Relation between Sociology and Political Science. 
5 

4. Write short answers : 
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5. Choose the correct options : 

(1) Status is awarded by birth, called as : 

Ascribed Status 

Achieved Status 

Higher Status 

Lower Status 	 1 

(2) Which of the following is not the element of social 
structure ? 

(a) Role 	(b) Norms 

(c) Values 	(d) Non Pattern 	1 

(3) Which of the following is a nature of Community ? 

(a) Homogamous (b) Heterogamous 

(c) Abstract 	(d) Non Abstract 	1 

(4) A small face to face group of persons is called 
a/an : 

(a) Primary Group (b) Secondary Group 

(c) Organization (d) Voluntary Association 1 

(5) A city and a village are examples of : 

(a) Social group (b) Geographical area 

(c) Community (d) Formal association 	1 
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(6) Which (given below) is the important characteristic 
of society ? 

(a) Lack of relations 

(b) Universal Feeling 

(c) Interdependency 

(d) Non abstract 	 1 

(7) The 'Role' of a person is reflected in : 

(a) The work he does 

(b) The set of legitimate expectations from him 

(c) The attributes he has 

(d) His social behaviour 	 1 

(8) The Trade Union, Student Union, Political Parties 
are examples of : 

(a) Primary Group 

(b) Reference Group 

(c) Secondary Group 

(d) Compulsory Group 	 1 

(9) Who for the first time used the concept of social 
structure in Sociology ? 

(a) Karl Marx 	(b) Herbert Spencer 

(c) Max Weber (d) Emile Durkheim 	1 
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(10) Who has stated the static and dynamic type of 
Society ? 

(a) Auguste Compte 

(b) Kimbal Young 

(c) Plato 

(d) G.S. Ghurye 	 1 

(11) Who has stated that the society is the web of social 
relationship ? 

(a) Max Weber 

(b) Mac Iver 

(c) Moris Ginsburge 

(d) Kimbal Young 	 1 

(12) "Man is a social animal", who stated this statement ? 

(a) Plato 	(b) Aristotle 

(c) Harry Johnson (d) Karl Marx 	 1 

(13) Which of the following is Ascribed Status ? 

(a) Sex 	(b) Doctor 

(c) Industrialist 	(d) Professor 	 1 

(14) Which status is related with quality and capacity ? 

(a) Ascribed Status 

(b) Lower Status 

(c) Achieved Status 

(d) Middle Status 	 1 
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(15) Which one of the following can be considered a 
community ? 

(a) Student Union (b) Tribe 

(c) Family 	(d) Crowd 	 1 

(16) Which one of the following is not a characteristic of 
the Community ? 

(a) Geographical location 

(b) Community Sentiment 

(c) Social Homogeneity 

(d) Stable Government 
	

1 

(17) The concept of role and status were first systematically 
developed by : 

(a) Malinowski (b) Parsons 

(c) Park 	(d) Linton 	 1 

(18) Which one of the following does not constitute an 
element of social structure ? 

(a) Status and Role 

(b) Groups and Subgroups 

(c) Institutions 

(d) Sub-Culture 	 1 

(19) How is the relationship in secondary group ? 

(a) Formal 
	

(b) Informal 

(c) Personal 
	(d) Spontaneous 
	

1  
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3. 

(20) Who defined "A role represent the Dynamic aspect 
of Status" ? 

(a) 	Marton 	(b) 	Linton 

(c) 	Johnson 	(d) 	Young and Mac. 1 
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